C:# Checking Division Answers

Name:
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182+ 6=29r5 \
checked by multiplying the 39 29 1
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2.
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1792@ |3
1) 440-7=6216 2) 734+9=81r15 4
5.
6.
3) 851+4=106r3 4) 439+3=146r1 !
8.
9.
10.
5 531+6=88r4 6) 775+7=110r1
) 667+3=222r1 8 505+9=56r1
9 965+3=2321 10) 765+7=109r2
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Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182 +6=29r5 \
checked by multiplying the - 29 1 correct
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2. correct
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 j 3. not
1) 440:7=6216 62 2 734-9=81r5 g1 4. __correct
x 7 x 9 5. not
434 729
+ 6 + 5 6 not
440 734
7. correct
3) 851+4=106r3 106 4) 439+3=146r1 146
x 4 x 3 s  correct
424 438
a2l 439 10. correct
5 531+6=88r4 88 6) 775+7=110r1 110
X 6 x 7
528 770
+ 4 + 1
532 771
) 667+3=222r1 222 8 505+9=56r1 56
x 3 x 9
666 504
+ 1 + 1
667 505
9 965+3=321 321 10) 765+7=109r2 109
x 3 x 7
963 763
+ 0 + 2
963 765
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